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No REHRREA B 4A17H | 5A15H | 6A12H | 7TA17TH | 8A20H | 9A11H | 10A15H | 11A6H | 12H12H | 1A16H | 2A5H | 3A12H
L{AKSBAA RS pH| - 7.2 7.4 7.1 7.1 6.9 7.1 7.1 7.0 7.4 7.1 7.2 7.3
2| B LA SR SR R mg/L| - 0.5 <0.5 <0.5 0.6 <0.5 0.7 <0.5 <0.5 €0.5 <0.5 €0.5 <0.5
Bl(s2ib]le T3 mg/L| - 0.8 0.9 1.1 1.2 1.2 0.7 1.3 1.1 1.2 1.3 0.9 0.9
4| HACA AP mg/L| - 59 37 49 44 66 33 37 39 39 59 80 57
5| ARG mS/m| - 50.2 50.9 50.5 48.9 50.8 26.6 33.4 32.3 51.7 51.4 51.0 51.0
6|27 mg/L| Rt Rt ARt Rt ARt Rt ARt Rt BN Rt BN Rt At
7|48 mg/L| 0.01 0.003 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001
8| A7 L mg/L| 0.05 <0.005 <0.005 <0.005 <€0.005 <0.005 <€0.005 <0.005 <0.005 <0.005 <0.005 <0.005 <0.005
9|tk mg/L| 0.01 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001

10| 505 mg/L| 0.8 <€0.08
11| #a7KkER mg/L| 0.0005 <0.0005|  <0.0005 <€0.0005|  <0.0005 <€0.0005|  <0.0005 <0.0005 <0.0005 <0.0005 <0.0005 <0.0005 <0.0005
12| AYARIESE R R OV A EAPEZE % mg/L| 10 11
13| ARV A mg/L| 0.003 <0.0003 <0.0003 <€0.0003|  <0.0003 <€0.0003|  <0.0003 <0.0003 <0.0003 <0.0003 <0.0003 <0.0003 <0.0003
14)1F5% mg/L 1 <€0.1
15| RV ke 7 == 1 mg/L| AiH BN N N N N N N N N N N BN ]
16|F) oo FLy mg/L| 0.01 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001
17|77 7anxFL mg/L[ 0.01 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001
18|vrmnrs mg/L[ 0.02 <€0.001
19| U bR R mg/L| 0.002 <0.0002
20(1,2-vrmnx iy mg/L| 0.004 <0.0004
21({1,1-Y7auxFL v mg/L| 0.1 <€0.001
22(1,2-YrmnxFL o mg/L| 0.04 <0.002
23|1,1,1-R)rmmxz mg/L 1 <€0.001
24(1,1,2-R)Z7mnxs mg/L| 0.006 <€0.0006
25(1,3-Y7uu s~ mg/L| 0.002 <€0.0002
26|F VT4 mg/L| 0.006 <0.0006
27>~ mg/L| 0.003 <€0.0003
28| F AT mg/L[ 0.02 <€0.001
29| mg/L| 0.01 <€0.001
301 mg/L| 0.01 <0.001
31| 7 VL KER mg/L| AiEH Ak
32|/mmxsLy mg/L| 0.002 <0.0002
33(1,4-UAFH mg/L| 0.05 <0.005
34N\ LAAF A pe-TEQ/L| 1 0.012




